273 [700] 703 [1795]

3 [20]
=
(=)
A
o] 0] e
o —
— O =3
1 o [ = 5 =2
:— [—) . — N
0 —|E iR
RRATNIIRIRIIINAR ARG | i o N
A N N TN NY DOSPOELEPOPPPSY| N | oS
A T T T Y DOPPEESSEII$S 50 o> o
AR S N S SNY DOEISEIPPISII SO . .
ARSI DOPOOOSOPOPPP50 S 900000000000000000000000050000
POESPPPSPPPPP L) 0000000000000000000000000000000
ARRARTHMRRRRRRRINIRNRS JISILELISIISST) D002599000900$630050308090699900
AR L L] OSSP PSSIPP) 500000000000§000060600000000000
= 0 o) N A — l —
m
1 l
5 3 [82.5] 185 [465]
6 [151.5 585 [1488. 5] A L |
f ]
0
| )
49} [1257] \JQ%
S e
=5 & 1
_ e P
Lo
= 143 [365.5] 14} [366] 148 [365.5] il (1
— L
ol . J
= T [
| | |
| | |
oo [90° ] | |
| |
| | |
| | |
L] LA &

EPF34T2GR-5B, 3432GR-5B

0 0 O oo .0. 0 o ]




